TABULATION OF BIDS			T		
PROJECT: HAWAII BELT ROAD RESURFACING EAST PAAUILO BRIDGE TO KAALA BRIDGE			1		
PROJECT NO.: NH-019-2(55)					,
ISLAND: HAWAII					·
DISTRICT: HAMAKUA	JAS GLOVER, LTD.	YAMADA AND SONS, INC.	GRACE PACIFIC CORP.	ISEMOTO CONTRACTING	STATE OF HAWAII DEPARTMENT OF TRANSPORTATION
TYPE CODE: 1000, X021, Y060				COMPANY, LTD.	HIGHWAYS DIVISION
DATE ADVERTISED: INTERNET POSTING - JUNE 10, 2004					
BIDS OPENED: JUNE 30, 2004 NET LENGTH OF PROJECT: 2.95 MILES					
COMPLETION TIME: THREE HUNDRED (300) WORKING DAYS					

					<u> </u>							<del></del>	
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
209.0100	Water Pollution and Erosion Control	F.A.	F.A.	F.A.	\$40,000.00	F.A.	\$40,000.00	F.A.	\$40,000.00	F.A.	\$40,000.00	F.A.	\$40,000.00
305.1000	Aggregate Subbase	4,125	Cu Yd	\$74.50	\$307,312.50	\$56.00	\$231,000.00	\$50.00	\$206,250.00	\$86.50	\$356,812.50	\$48.00	\$198,000.00
306.1100	Untreated Permeable Base Course	4,125	Cu Yd	\$65.00	\$268,125.00	\$82.70	\$341,137.50	\$135.00	\$556,875.00	\$144.00	\$594,000.00	\$55.00	\$226,875.00
312.0100	Plant Mix Glassphalt Concrete Base Course	12,310	Ton	\$69.50	\$855,545.00	\$68.55	\$843,850.50	\$99.00	\$1,218,690.00	\$108.00	\$1,329,480.00	\$65.00	\$800,150.00
401.0400	Asphalt Concrete Pavement, Mix No. IV	9,740	Ton	\$89.00	\$866,860.00	\$92.95	\$905,333.00	\$95.00	\$925,300.00	\$103.50	\$1,008,090.00	\$78.00	\$759,720.00
401.0502	Asphalt Concrete Pavement, Mix No. V	1,270	Ton	\$121.50	\$154,305.00	\$183.55	\$233,108.50	\$175.00	\$222,250.00	\$191.00	\$242,570.00	\$85.00	\$107,950.00
401.0600	Pavement Smoothness Incentive	Allowance	Allowance	Allowance	\$30,000.00	Allowance	\$30,000.00	Allowance	\$30,000.00	Allowance	\$30,000.00	Allowance	\$30,000.00
503.1000	Concrete for Slab (Kawaili Bridge)	L.S.	L.S.	L.S.	\$80,740.00	L.S.	\$145,745.25	L.S.	\$133,080.00	L.S.	\$128,250.00	L.S.	\$15,000.00
503.1001	Concrete for Slab (Kekualele Bridge)	L.S.	L.S.	L.S.	\$177,540.00	L.S.	\$373,750.00	L.S.	\$341,250.00	L.S.	\$224,100.00	L.S.	\$52,500.0
507.7000	Type I Concrete Bridge Railing	1,100	Lin Ft	\$291.00	\$320,100.00	\$499.20	* \$549,120.00	\$570.00	\$627,000.00	\$392.00	\$431,200.00	\$400.00	\$440,000.00
507.7001	Type II Concrete Bridge Railing	70	Lin Ft	\$555.00	\$38,850.00	\$903.00	\$63,210.00	\$930.00	\$65,100.00	\$828.00	\$57,960.00	\$500.00	\$35,000.00
507.7002	Type III Concrete Bridge Railing	160	Lin Ft	\$530.00	\$84,800.00	\$1,057.08	* \$169,132.80	\$1,050.00	\$168,000.00	\$1,202.00	\$192,320.00	\$500.00	\$80,000.0
507.7003	Concrete Wing Wall Railing	45	Lin Ft	\$1,700.00	\$76,500.00	\$2,194.44	* \$98,749.80	\$2,080.00	\$93,600.00	\$2,553.00	\$114,885.00	\$1,200.00	\$54,000.00
507.7004	Steel Bicycle Railing (Mohuna and Kukaiau Bridges)	890	Lin Ft	\$143.50	\$127,715.00	\$135.70	* \$120,773.00	\$130.00	\$115,700.00	\$129.00	\$114,810.00	\$200.00	\$178,000.00
507.7005	Concrete Endpost, Type I	L.S.	L.S.	L.S.	\$306,400.00	L.S.	* \$588,504.00	L.S.	\$525,380.00	L.S.	\$591,142.00	L.S.	\$440,000.00
507.7006	Concrete Endpost, Type II	L.S.	L.S.	L.S.	\$139,650.00	L.S.	\$368,207.00	L.S.	\$331,790.00	L.S.	\$214,243.00	L.S.	\$140,000.00

# TABULATION OF BIDS HAWAII BELT ROAD RESURFACING

EAST PAAUILO BRIDGE TO KAALA BRIDGE

PROJECT:

1	•				į.				1		:		
PROJECT NO.	: NH-019-2(55)												
ISLAND:	HAWAII												
DISTRICT:	HAMAKUA							·				STATE OF HAWAII	
TYPE CODE:	1000, X021, Y060			JAS GL	OVER, LTD.	YAMADA.	AND SONS, INC.	GRACE P	ACIFIC CORP.		PONTRACTING PANY, LTD.		TOF TRANSPORTATION' WAYS DIVISION
DATE ADVERT	TISED: INTERNET POSTING - JUNE 10, 2004												
BIDS OPENED	: JUNE 30, 2004 NET LENGTH OF PROJECT: 2.95 MILES					· ·			İ				
COMPLETION	TIME: THREE HUNDRED (300) WORKING DAYS												
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
507.7007	Concrete Endpost, Type III	L.S.	L.S.	L.S.	\$123,790.00	L.S.	\$399,370.00	L.S.	\$358,320.00	L.S.	\$205,943.00	L.S.	\$140,000.00
570.1000	Bridge Deck Patch	F.A.	F.A.	F.A.	\$20,000.00	F.A.	\$20,000.00	F.A.	\$20,000.00	F.A.	\$20,000.00	F.A.	\$20,000.00
602.1000	Reinforcing Steel for Slab (Kawaili Bridge)	L.S.	L.S.	L.S.	\$2,920.00	L.S.	\$10.00	L.S.	\$2,100.00	L.S.	\$2,180.00	L.S.	\$2,000.00
602.1001	Reinforcing Steel for Slab (Kekualele Bridge)	L.S.	L.S.	L.S.	\$7,260.00	L.S.	\$10.00	L.S.	\$6,250.00	L.S.	\$6,490.00	L.S.	\$4,000.00
604.1000	Grating (Type 61614P)	1	Each	\$5,125.00	\$5,125.00	\$1,035.00	\$1,035.00	\$950.00	\$950.00	\$2,000.00	\$2,000.00	\$1,850.00	\$1,850.00
604.1500	Replacing Inlet Frame and Grating	3	Each	\$3,450.00	\$10,350.00	\$7,820.00	\$23,460.00	\$7,140.00	\$21,420.00	\$3,500.00	\$10,500.00	\$5,000.00	\$15,000.00
604.2000	Adjusting Water Manhole Frame and Cover	4	Each	\$990.00	\$3,960.00	\$1,667.50	\$6,670.00	\$7,140.00	\$28,560.00	\$1,100.00	\$4,400.00	\$1,200.00	\$4,800.00
604.4000	Adjusting Water Valve Box Frame and Cover	7	Each	\$676.00	\$4,732.00	\$1,667.50	\$11,672.50	\$1,530.00	\$10,710.00	\$1,000.00	\$7,000.00	\$750.00	\$5,250.00
605.1000	6 Inch Perforated Underdrain Pipe	17,800	Lin Ft	\$10.00	\$178,000.00	\$15.95	* \$283,910.00	\$20.00	\$356,000.00	\$22.00	\$391,600.00	\$30.00	\$534,000.00
605.1500	6 Inch Non-Perforated Underdrain Pipe	685	Lin Ft	\$46.00	\$31,510.00	\$15.95	\$10,925.75	\$30.00	\$20,550.00	\$22.00	\$15,070.00	\$50.00	\$34,250.00
605.2000	Cleanout	70	Each	\$800.00	\$56,000.00	\$502.30	\$35,161.00	\$450.00	\$31,500.00	\$500.00	\$35,000.00	\$450.00	\$31,500.00
606.3100	Reset Guardrail Post and Replace Spacer Block	130	Each	\$127.00	\$16,510.00	\$17.25	\$2,242.50	\$130.00	\$16,900.00	\$125.50	\$16,315.00	\$60.00	\$7,800.00
606.3111	Guardrail Type 3 - Strong Post W-Beam	3,506	Lin Ft	\$44.10	\$154,614.60	\$6.00	\$21,036.00	\$50.00	\$175,300.00	\$43.50	\$152,511.00	\$35.00	\$122,710.00
606.3220	Pedestal Guardrail Type 3 Thrie Beam with Steel Posts	964	Lin Ft	\$225.00	\$216,900.00	\$30.60	\$29,498.40	\$220.00	\$212,080.00	\$222.50	\$214,490.00	\$300.00	\$289,200.00
606.3310	Guardrail Type 3 - Thrie Beam Transition	27	Each	\$3,606.00	\$97,362.00	\$491.25	\$13,263.75	\$3,440.00	\$92,880.00	\$3,570.00	\$96,390.00	\$5,000.00	\$135,000.00
606.7000	Terminal Section, Type FLEAT - 350	14	Each	\$5,525.00	\$77,350.00	\$752.25	\$10,531.50	\$5,270.00	\$73,780.00	\$5,470.00	\$76,580.00	\$4,000.00	\$56,000.00

HAWAII BELT ROAD RESURFACING

EAST PAAUILO BRIDGE TO KAALA BRIDGE

PROJECT:

				1	t t			· ·			1		
PROJECT NO.	.: NH-019-2(55)		•										
ISLAND:	HAWAII				:								
DISTRICT:	HAMAKUA	140.01.0	JAS GLOVER, LTD.		YAMADA AND SONS, INC.		GRACE PACIFIC CORP.		CAUTE ACTIVE	STATE OF HAWAII DEPARTMENT OF TRANSPORTATION			
TYPE CODE:	1000, X021, Y060			JAS GLC	YER, LID.	XAMBALIA /	AND SONS, INC.	GRACE M	ACIFIC CORP.	· · · · · · · · · · · · · · · · · · ·	CONTRACTING ANY, LTD.		IV OF TRANSPORTATION IWAYS DIVISION
DATE ADVERT	TISED: INTERNET POSTING - JUNE 10, 2004						·						
BIDS OPENED	D: JUNE 30, 2004 NET LENGTH OF PROJECT: 2.95 MILES								·				
COMPLETION	TIME: THREE HUNDRED (300) WORKING DAYS					÷							
		APPROX.		UNIT	·	UNIT		UNIT		UNIT		UNIT	
ITEM NO.	ITEM	QUANTITY	UNIT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
606.7010	Terminal Section, Modified Type "G"	11	Each	\$2,655.00	\$29,205.00	\$361.50	\$3,976.50	\$2,540.00	\$27,940.00	\$2,630.00	\$28,930.00	\$1,500.00	\$16,500.00
606.7020	Terminal Section, ET-2000 PLUS or SKT-350	2	Each	\$5,580.00	\$11,160.00	\$759.75	\$1,519.50	\$5,320.00	\$10,640.00	\$5,520.00	\$11,040.00	\$4,500.00	\$9,000.00
606.7030	End Anchorage - Modified Type "A-1" Flare	16	Each	\$9,360.00	\$149,760.00	\$1,275.00	\$20,400.00	\$9,870.00	\$157,920.00	\$9,265.00	\$148,240.00	\$3,200.00	\$51,200.00
606.8000	Portable Concrete Barrier	50	Each	\$2,983.00	\$149,150.00	\$6,649.55	* \$332,477.50	\$5,250.00	\$262,500.00	\$1,540.00	\$77,000.00	\$5,600.00	\$280,000.00
606.8010	Sand Filled Crash Barrels	9	Each	\$12,060.00	\$108,540.00	\$1,642.50	\$14,782.50	\$11,500.00	\$103,500.00	\$11,395.00 *	\$102,555.00	\$500.00	\$4,500.00
612.0100	Grouted Rubble Paving for Subdrain	210	Sq Ft	\$72.00	\$15,120.00	\$80.50	\$16,905.00	\$80.00	\$16,800.00	\$30.00	\$6,300.00	\$40.00	\$8,400.00
613.0110	Reconstruct Centerline and Reference Survey Monuments	7	Each	\$744.00	\$5,208.00	\$747.50	\$5,232.50	\$1,160.00	\$8,120.00	\$709.00	\$4,963.00	\$350.00	\$2,450.00
621.4040	Reflector Marker (RM-4) with Post	30	Each	\$110.00	\$3,300.00	\$15.00	\$450.00	\$105.00	\$3,150.00	\$109.00	\$3,270.00	\$220.00	\$6,600.00
621.4130	Reflector Marker (RM-3) Bi-Directional with Flex Post	6	Each	\$138.00	\$828.00	\$18.75	\$112.50	\$132.00	\$792.00	\$136.00	\$816.00	\$100.00	\$600.00
621.4140	Type II Object Marker with Flex Post	7	Each	\$149.00	\$1,043.00	\$20.25	\$141.75	\$142.00	\$994.00	\$147.00	\$1,029.00	\$110.00	\$770.00
621.4145	Reflector Marker (RM-2) with Flex Post	79	Each	\$121.00	\$9,559.00	\$16.50	\$1,303.50	\$116.00	\$9,164.00	\$120.00	\$9,480.00	\$80.00	\$6,320.00
621.5100	Regulatory and Warning Sign (10 Square Feet or Less) with Post	25	Each	\$523.00	\$13,075.00	\$71.25	\$1,781.25	\$499.00	\$12,475.00	\$518.00	\$12,950.00	\$325.00	\$8,125.00
621.5150	Regulatory and Warning Sign (10 Square Feet or Less) without Post	6	Each	\$193.00	\$1,158.00	\$26.25	\$157.50	\$184.00	\$1,104.00	\$191.00	\$1,146.00	\$200.00	\$1,200.00
621.5200	Regulatory and Warning Sign (Greater than 10 Square Feet) with Post	7	Each	\$1,046.00	\$7,322.00	\$142.50	\$997.50	\$998.00	\$6,986.00	\$1,036.00	\$7,252.00	\$400.00	\$2,800.00

PROJECT: HAWAII BELT ROAD RESURFACING EAST PAAUILO BRIDGE TO KAALA BRIDGE					
PROJECT NO.: NH-019-2(55)					
ISLAND: HAWAII					
DISTRICT: HAMAKUA					STATE OF HAWAII
TYPE CODE: 1000, X021, Y060	JAS GLOVER, LTD.	YAMADA AND SONS, INC.	GRACE PACIFIC CORP.	SEMOTO CONTRACTING COMPANY, LTD.	DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION
DATE ADVERTISED: INTERNET POSTING - JUNE 10, 2004					
BIDS OPENED: JUNE 30, 2004 NET LENGTH OF PROJECT: 2.95 MILES					
COMPLETION TIME: THREE HUNDRED (300) WORKING DAYS					

							i						
		APPROX.		UNIT		TINU		UNIT		UNIT		UNIT	
ITEM NO.	ITEM	QUANTITY	UNIT	PRICE	AMOUNT								
621.6110	State Route Marker Assembly (Type A) with Post	. 6	Each	\$386.00	\$2,316.00	\$52.50	\$315.00	\$368.00	\$2,208.00	\$382.00	\$2,292.00	\$325.00	\$1,950.00
621.7120	Construction Sign with Two Posts	10	Each	\$1,260.00	\$12,600.00	\$116.25	\$1,162.50	\$814.00	\$8,140.00	\$845.00	\$8,450.00	\$550.00	\$5,500.00
621.7121	Portable Construction Sign	18	Each	\$602.00	\$10,836.00	\$120.00	\$2,160.00	\$840.00	\$15,120.00	\$875.00	\$15,750.00	\$375.00	\$6,750.00
621.7130	Construction Sign without Post	14	Each	\$465.00	\$6,510.00	\$33.75	\$472.50	\$237.00	\$3,318.00	\$245.00	\$3,430.00	\$200.00	\$2,800.00
621.7610	Mile Post Marker and Route Number Plate with Post (Bi-Directional)	2	Each	\$385.00	\$770.00	\$52.50	\$105.00	\$368.00	\$736.00	\$392.00	\$784.00	\$350.00	\$700.00
624.1791	Stainless Steel Pipe Hanger	5	Each	\$2,325.00	\$11,625.00	\$3,450.00	\$17,250.00	\$3,150.00	\$15,750.00	\$5,575.00	\$27,875.00	\$4,000.00	\$20,000.00
624.5000	Water System	F.A.	F.A.	F.A.	\$25,000.00								
629.1000	4-Inch Pavement Striping, White (Thermoplastic Extrusion)	31,080	Lin Ft	\$1.10	\$34,188.00	\$1.45	\$45,066.00	\$1.40	\$43,512.00	\$1.40	\$43,512.00	\$1.00	\$31,080.00
629.1010	4-Inch Pavement Striping, Yellow (Thermoplastic Extrusion)	4,919	Lin Ft	\$1.10	\$5,410.90	\$1.45	\$7,132.55	\$1.40	\$6,886.60	\$1.50	\$7,378.50	\$1.00	\$4,919.00
629.1100	8-Inch Pavement Striping (Thermoplastic Extrusion)	2,206	Lin Ft	\$2.20	\$4,853.20	\$2.90	\$6,397.40	\$1.90	\$4,191.40	\$3.00	\$6,618.00	\$2.00	.\$4,412.00
629.1200	12-Inch Pavement Striping (Thermoplastic Extrusion)	142	Lin Ft	\$5.50	\$781.00	\$4.60	\$653.20	\$3.10	\$440.20	\$4.50	\$639.00	\$3.75	\$532.50
629.1300	Double 4-Inch Pavement Striping (Thermoplastic Extrusion)	5,088	Lin Ft	\$2.20	\$11,193.60	\$2.90	\$14,755.20	\$2.10	\$10,684.80	\$3.00	\$15,264.00	\$2.00	\$10,176.00
629.2020	Type "C" Pavement Marker	784	Each	\$6.60	\$5,174.40	\$4.35	\$3,410.40	\$7.50	\$5,880.00	\$4.00	\$3,136.00	\$7.00	\$5,488.00
629.2030	Type "D" Pavement Marker	507	Each	\$6.60	\$3,346.20	\$8.35	\$4,233.45	\$7.40	\$3,751.80	\$8.00	\$4,056.00	\$7.00	\$3,549.00
629.2040	Type "H" Pavement Marker	125	Each	\$6.60	\$825.00	\$8.35	\$1,043.75	\$6.40	\$800,00	\$8.00	\$1,000.00	\$7.00	\$875.00
629.2050	Type "J" Pavement Marker	1,055	Each	\$3.30	\$3,481.50	\$4.35	\$4,589.25	\$8.10	\$8,545.50	\$4.00	\$4,220.00	\$5.00	\$5,275.00

TABULATION OF BIDS			T										
EAST PAAUILO BRIDGE TO KAALA BRIDGE				:	-						į.	·	
: NH-019-2(55)				i									
HAWAII								:					
HAMAKUA		-	JAS GI	OVER LTD	VAMATIA ANT SONS INC				ASEMOTO CONTRACTING		STATE OF HAWAII  DEPARTMENT OF TRANSPORTATION		
1000, X021, Y060			0A0 GE		17 (18) (12) (17)		5.5.5			i i	HIGH\	WAYS DIVISION	
ISED: INTERNET POSTING - JUNE 10, 2004													
: JUNE 30, 2004 NET LENGTH OF PROJECT: 2.95 MILES								- -					
TIME: THREE HUNDRED (300) WORKING DAYS													
ITEM	APPROX.	UNIT	UNIT	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
	L.S.	L.S.	L.S.	\$32,000.00	L.S.	\$32,000.00	L.S.	\$32,000.00	L.S.	\$32,000.00	L.S.	\$32,000.00	
Additional Police Officers and/or Additional Traffic Control Devices	F.A.	F.A.	F.A.	\$150,000.00	F.A.	\$150,000.00	F.A.	\$150,000.00	F.A.	\$150,000.00	F.A.	\$150,000.00	
Portable Traffic Signal System	F.A.	F.A.	F.A.	\$85,000.00	F.A.	\$85,000.00	F.A.	\$85,000.00	F.A.	\$85,000.00	F.A.	\$85,000.00	
Temporary Roadway Lighting	F.A.	F.A.	F.A.	\$75,000.00	F.A.	\$75,000.00	F.A.	\$75,000.00	F.A.	\$75,000.00	F.A.	\$75,000.00	
Permeable Separator	30,165	Sq Yd	\$1.40	\$42,231.00	\$1.55	\$46,755.75	\$10.00	\$301,650.00	\$2.60	\$78,429.00	\$5.00	\$150,825.00	
Curb Ramp, Modified Type "D"	16	Each	\$2,260.00	\$36,160.00	\$1,667.50	\$26,680.00	\$2,680.00	\$42,880.00	\$1,920.00	\$30,720.00	\$1,000.00	\$16,000.00	
Excavation for Reconstruction of Weakened Pavement Area	15,470	Cu Yd	\$65.40	\$1,011,738.00	\$60.60	\$937,482.00	\$59.00	\$912,730.00	\$107.00	\$1,655,290.00	\$36.00	\$556,920.00	
Cold-Planing	1,700	Sq Yd	\$16.90	\$28,730.00	\$12.55	\$21,335.00	\$20.00	\$34,000.00	\$23.00	\$39,100.00	\$6.50	\$11,050.00	
Drilling Holes and Installing Dowel Reinforcing Bars for Slab (Kawaili Bridge)	180	Each	\$45.00	\$8,100.00	\$54.05	\$9,729.00	\$50.00	\$9,000.00	\$60.00	\$10,800.00	\$80.00	\$14,400.00	
Drilling Holes and Installing Dowel Reinforcing Bars for Slab (Kekualele Bridge)	420	Each	\$45.00	\$18,900.00	\$54.05	\$22,701.00	\$50.00	\$21,000.00	\$60.00	\$25,200.00	\$80.00	\$33,600.00	
Repair of Expansion Joint	L.S.	L.S.	L.S.	\$74,000.00	L.S.	\$153,295.00	L.S.	\$140,000.00	L.S.	\$99,360.00	L.S.	\$230,000.00	
Mobilization (Not to Exceed 10 Percent of the Sum of All Items Excluding the Bid Price of this Item, Field Office, Project Site Laboratory and Force Account Items)	L.S.	L.S.	L.S.	\$403,976.10	L.S.	\$736,172.18	L.S.	\$659,300.00	L.S.	\$732,550.00	L.S.	\$448,267.51	
											the state of the s		
	NH-019-2(55)  HAWAII  HAMAKUA  1000, X021, Y060  SED: INTERNET POSTING - JUNE 10, 2004  JUNE 30, 2004 NET LENGTH OF PROJECT: 2.95 MILES  TIME: THREE HUNDRED (300) WORKING DAYS  ITEM  Field Office (Not to Exceed \$32,000)  Additional Police Officers and/or Additional Traffic Control Devices  Portable Traffic Signal System  Temporary Roadway Lighting  Permeable Separator  Curb Ramp, Modified Type "D"  Excavation for Reconstruction of Weakened Pavement Area  Cold-Planing  Drilling Holes and Installing Dowel Reinforcing Bars for Slab (Kawaili Bridge)  Drilling Holes and Installing Dowel Reinforcing Bars for Slab (Kekualele Bridge)  Repair of Expansion Joint  Mobilization (Not to Exceed 10 Percent of the Sum of All Items Excluding the Bid Price of this Item, Field	EAST PAAUILO BRIDGE TO KAALA BRIDGE  NH-019-2(55)  HAWAII  HAMAKUA  1000, X021, Y080  ISED: INTERNET POSTING - JUNE 10, 2004  JUNE 30, 2004 NET LENGTH OF PROJECT: 2.95 MILES  TIME: THREE HUNDRED (300) WORKING DAYS  ITEM APPROX. QUANTITY  Field Office (Not to Exceed \$32,000)  Additional Police Officers and/or Additional Traffic Control Devices  F.A.  Portable Traffic Signal System  F.A.  Temporary Roadway Lighting  F.A.  Permeable Separator  Curb Ramp, Modified Type "D"  Excavation for Reconstruction of Weakened Pavement Area  Cold-Planing  Drilling Holes and Installing Dowel Reinforcing Bars for Slab (Kawaili Bridge)  Prepair of Expansion Joint  Mobilization (Not to Exceed 10 Percent of the Sum of All Items Excluding the Bid Price of this Item, Field	EAST PAAUILO BRIDGE TO KAALA BRIDGE  NH-019-2(55)  HAWAII  HAMAKUA  1000, X021, Y080  ISED: INTERNET POSTING - JUNE 10, 2004  JUNE 30, 2004 NET LENGTH OF PROJECT: 2.95 MILES  TIME: THREE HUNDRED (300) WORKING DAYS  ITEM APPROX. QUANTITY UNIT  Field Office (Not to Exceed \$32,000)  Additional Police Officers and/or Additional Traffic Control Devices F.A. F.A.  Portable Traffic Signal System F.A. F.A.  Temporary Roadway Lighting F.A. F.A.  Permeable Separator 30,165 Sq Yd  Curb Ramp, Modified Type "D" 16 Each  Excavation for Reconstruction of Weakened Pavement Area 15,470 Cu Yd  Cold-Planing 1,700 Sq Yd  Drilling Holes and Installing Dowel Reinforcing Bars for Slab (Kawaili Bridge)  Drilling Holes and Installing Dowel Reinforcing Bars for Slab (Kawaili Bridge)  Repair of Expansion Joint L.S. L.S.  Mobilization (Not to Exceed 10 Percent of the Sum of All Items Excluding the Bid Price of this Item, Field	EAST PAAULIO BRIDGE TO KAALA BRIDGE  NH-019-2(55)  HAWAII  HAMAKUA  JOO, X021, Y080  SED. INTERNET POSTING - JUNE 10, 2004  JUNE 30, 2004 NET LENGTH OF PROJECT: 2.95 MILES  TIME: THREE HUNDRED (300) WORKING DAYS  TIEM QUANTITY UNIT PRICE  Field Office (Not to Exceed \$32,000)  L.S. L.S. L.S.  Additional Police Officers and/or Additional Traffic Control Devices  F.A. F.A. F.A.  Fence F.A. F.A. F.A.  Temporary Roadway Lighting  F.A. F.A. F.A. F.A.  Permeable Separator  Curb Ramp, Modified Type "D"  16 Each \$2,260.00  Excavation for Reconstruction of Weakened Pavement Area  15,470 Cu Yd \$65.40  Cold-Planing  1,700 Sq Yd \$16.90  Drilling Holes and Installing Dowel Reinforcing Bars for Slab (Kawaili Bridge)  Drilling Holes and Installing Dowel Reinforcing Bars for Slab (Kawaili Bridge)  Repair of Expansion Joint  L.S. L.S. L.S.  L.S. L.S.  L.S. L.S.  L.S. L.S.  L.S. L.S.  L.S	EAST PAAULIO BRIDGE TO KAALA BRIDGE  NH-019-2(55)  HAWAII  HAMAKUA  1000, X021, Y060  SED: INTERNET POSTING - JUNE 10, 2004  JUNE 30, 2004 NET LENGTH OF PROJECT: 2.95 MILES  TIME: THREE HUNDRED (300) WORKING DAYS   APPROX.  QUANTITY  UNIT PRICE  AMOUNT  Fleld Office (Not to Exceed \$32,000)  Additional Polica Officers and/or Additional Traffic Control Devices F.A. F.A. F.A. F.A. S150,000.00  Portable Traffic Signal System F.A. F.A. F.A. F.A. F.A. S75,000.00  Temporary Roadway Lighting F.A. F.A. F.A. F.A. F.A. S75,000.00  Permeable Separator 30,165 Sq.Yd S1.40 S42,231.00  Curb Ramp, Modified Type "D" 16 Each S2,260.00 S36,160.00  Excavation for Reconstruction of Weakened Pavement Area 15,470 Cu Yd S65,40 S1,011,738.00 Cold-Planing 1,700 Sq.Yd S16,90 S28,730.00 Drilling Holes and Installing Dowel Reinforcing Bars 180 Each S45,00 S8,100.00 Tor Slab (Kawaili Bridge) Drilling Holes and Installing Dowel Reinforcing Bars for Stab (Kewaile Bridge) Repair of Expansion Joint L.S. L.S. L.S. S74,000.00 Mobilization (Not to Exceed 10 Percent of the Sum of All terms Excluding the Biol Price of this Item, Field	EAST PAAUILO BRIDGE TO KAALA BRIDGE NH-019-2(55)  HAWAII  HAMAKUA  JAS GLOVER, LTD.  YAMADA.  1000, X021, Y080  SED: INTERNET POSTING - JUNE 10, 2004  JUNE 30, 2004  NET LENGTH OF PROJECT: 2.95 MILES  TIME: THREE HUNDRED (300) WORKING DAYS   TEM  QUANTITY  UNIT  PRICE  AMOUNT  PRICE  AMOUNT  PRICE  AMOUNT  PRICE  FA.  F.A.  F.A.  \$150,000.00  F.A.  Service and/or Additional Traffic Control Devices  FA.  FA.  FA.  FA.  FA.  \$5150,000.00  FA.  Temporary Roadway Lighting  FA.  FA.  FA.  FA.  FA.  FA.  \$75,000.00  FA.  Permeable Separator  30,165  Sq Yd  \$1.40  \$42,231.00  \$1.657.50  Excavation for Reconstruction of Weakened Pavement Area  15,470  Cu Yd  \$85,40  \$1,011,738.00  \$60.80  Cold-Planing  LS.  LS.  LS.  \$45,00  \$81,000  \$16,657.50  \$60.80  Cold-Planing  190  Each  \$45,00  \$81,000.00  \$44.05  FA.  FA.  FA.  FA.  \$150,000.00  FA.  \$1.657.50  \$81,000  \$16,657.50  \$80.80  Cold-Planing  190  Each  \$45,00  \$81,000.00  \$44.05  FA.  FA.  FA.  FA.  FA.  FA.  FA.  FA	EAST PAAULIC BRIDGE TO KAALA BRIDGE NH-019-2(55) HAWAII HAMAKUA 1000, X021, Y060 SED: INTERNET POSTING - JUNE 10, 2004 JUNE 30, 2004 NET LENGTH OF PROJECT: 2.95 MILES TIME: THREE HUNDRED (300) WORKING DAYS    ITEM	EAST PAVAILO BRIDGE TO KAALA BRIDGE NH-019-2(55)  HAWAII  HAMAKUA  JAS GLOVER, LTD.  WANKIJA AND SONS, INC.  GRACE F  INC.  STANDED, INTERNET POSTING - JUNE 10, 2004  JUNE 30, 2004  NET LEIGHT OF PROJECT: 2.95 MILES  INME: THREE HUNDRED (300) WORKING DAYS   LS.  LS.  LS.  LS.  S32,000.00  LS.  S32,000.00  LS.  Additional Police Officers and/or Additional Traffic Control Devices  FA.  FA.  FA.  FA.  FA.  FA.  S55,000.00  FA.  S5	EAST PAULO BRIDGE TO KAALA BRIDGE  NH-019-2(56)  HAWAII  HAWAII  HAWAKUA  1000, X021, Y0800  SED. INTERNET POSTING - JUNE 10, 2004  JUNE 30, 2004 NET LENOTH OF PROJECT: 295 MILES  TIME: THREE HUNDRED (300) WORKING DAYS     UNIT	EAST PAULIO BRIDGE TO KAALA BRIDGE NH-0192(56)  NH-0192(5	EAST PAULIG SRIDGE TO KAALA SRIDGE  NH-071-05/25/35)  NH-071-05/25/35)  NH-071-05/25/35)  NH-071-05/25/35)  NH-071-05/25/35)  NH-071-05/25/35)  NH-071-05/25/35/35  NH-071-05/25/35/35  NH-071-05/25/35/35  NH-071-05/25/35/35  NH-071-05/25/35/35  NH-071-05/25/35/35  NH-071-05/25/35/35  NH-071-05/25/35/35  NH-071-05/25/35/35/35/35  NH-071-05/25/35/35/35/35/35/35/35/35/35/35/35/35/35	EAST PACIFIC DISTRICT - CONTROL - JUNE 10, 2004  - JUNE 1 TEIR - ADDITION - JUNE 10, 2004  - JUNE 1 TEIR - ADDITION - JUNE 10, 2004  - JUNE 1 TEIR - ADDITION - JUNE 10, 2004  - JUNE 1 TEIR - ADDITION - JUNE 10, 2004  - JUNE 1 TEIR - ADDITION - JUNE 10, 2004  - JUNE 1 TEIR - ADDITION - JUNE 10, 2004  - JUNE 1 TEIR - ADDITION - JUNE 10, 2004  - JUNE 1 TEIR - ADDITION - J	

PROJECT: HAWAII BELT ROAD RESURFACING EAST PAAUILO BRIDGE TO KAALA BRIDGE  PROJECT NO.: NH-019-2(55)  ISLAND: HAWAII  DISTRICT: HAMAKUA  TYPE CODE: 1000, X021, Y060  DATE ADVERTISED: INTERNET POSTING - JUNE 10, 2004	JAS GLOVER, LTD.	YAIWADA AND SONS, INC.	GRACE PACIFIC CORP.	ISSMOTO CONTRACTING COMPANY, LTD.	STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION
BIDS OPENED: JUNE 30, 2004 NET LENGTH OF PROJECT: 2.95 MILES  COMPLETION TIME: THREE HUNDRED (300) WORKING DAYS	·			·	
ITEM NO. ITEM QUANTITY UNIT	UNIT AMOUNT	UNIT PRICE AMOUNT	UNIT PRICE AMOUNT	UNIT PRICE AMOUNT	UNIT PRICE AMOUNT
A. SUM OF ALL ITEMS	\$7,490,000.00	** \$8,800,551.38	\$10,267,174.30	** \$10,524,156.00	\$7,331,089.01
B. Either Furnish Foreign Steel Not to Exceed Minimal Amount (Fill in "0") or Furnish Foreign Steel in Excess of Minimal Amount (Fill in 25% x A)	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
C. Amount for Comparison of Bids (A+B)	\$7,490,000.00	** \$8,800,551.38	\$10,267,174.30	** \$10,524,156.00	\$7,331,089.01
* Error in Extension ** Corrected Figure					
I CERTIFY THAT THIS IS A TRUE AND CORRECT TABULATION OF BIDS OPENED FOR THIS PROJECT.					
Røy Shioji Date Project Manager			·		